AN Hl A

B~ 2
Bl
I

DDDDDDD

ANel3

—

2007. 04

Ec|SqXLIHEE




XL

e
=

c

Wi

) Ol

b

0J

(X222

KO

QI

1

ol

-
=2t

U

B
iy

T

00
10

)

z UHXIS sS7FE,

ZH AMEES

[I=PN

ol
uJ
KJ

t

[I=PN

UL XIOIE

S Bl

AE A S

ol 4 X
=

=
[=)

ot
I
40
3

o

<

e)

ol
=

Ul
w0
i)

o}

c|

&

HUX AtE 2 HAl S 0UX

gel&el

Nl HAlL

R0

—_

wo

11
112

)
K
2l

B
9]
o

S

ol
KIO

-

A0

Jio

Rr

i0)
o

10

0
ol
ol
10
30
OH

oJ
Rl

oD

O

o
ill

oK

0{0

ol
uJ

R
M

=<
[0
[0
J
[9)
80
OH

ol
0H

H0
ok

oM
0K

<

ol

nJ

[0

Ol
ol
20
o1
1[3

0l
0H
[0

Ol

T

HAZA OIHXIAE LK

-

ol
=

<

010

I
)

-

ol

EH It

Tl

010

&I At

Ct.

A0

—_

ioJ

gaJplel =gl

ct.

al

oJ
00

ol
K

3

E

X =

gt.



3. 21N 40l tie €98

= EUNM= XS LHE0 ol 3 J1J1, SAIE

BHE 2 DIEF ZHl0l CHoHAM 2822l system =&t &
HdXIel 018 &2 MWI5tD, 23 HZE3 s Zot

HAZ0O 2l HUHA 28 &€ S22 F2dotRALt.

mo ol



>
O

00
)

nJ

ol

2.

k=l
=]

=k

4.

)l

ki

)
Al

—t

D

Kl

T

N
o1
oD

0

17
18

4. GIHX



St
S

KIS0 & AL
2JHl =5

G}
ol
iy
KF

oll
H

-

7
[
ol

ok

01
H

gl

<
oL

0
0]

<
<4
a3

il

r
IH

<
44

£l

40

3
1o}

i
<+

b

B
LA

0
i

44
44
45

=
[

Lt.

=]
lod

JITH

cth.

2 Wi

of

0
0]

50

56

Ct.

-58

IH

] 5

—_

<
R0
3N

_

ol
Kk

T
<
&0
B

oll
H
<+
ol
)
oM
ol

Ok

ol

KJ

ol

#0
00



1070
_|__m.
D

oll




3. iAXl AtESE

2006
- ch 2l = It
H2EAIEZE | I Kl HI = (HCHR)
Nm® 1,336,543 827.8 619.3( & /Nm®)
LNG
toe 1,410 - _
MIWh 11,209 933.7 83.3( & /kWh)
S
toe 2,409 - -
O Xl EH&HAH | toe 3,819 1,761.5 —

2006 OIAXI AtE HIZ (%)

37%

=]
=

OWNG md




Jb. 2004 ~ 2006 EE OUXI AtSE

(1) &JI
I= 2006 2005 2004
EE AHE Z(KW) SH(H) AHS 2 (kW) SH(H) AHE & (KW) SH(H)
12 1,250,791 94,454,860 1,159,227 83,649, 130 1,040,548 | 82,683,340
23 1,250,658 94,141,330 1,235,265 84,523,110 1,073,911 | 84,523,110
33 1,065,346 81,619,400 1,065,515 75,402,530 940,312 | 72,655,530
43 979,236 75,460,130 987,719 70,087,460 845,711 | 62,828,720
53 780,670 60,241,890 754,933 52,242,610 670,563 | 48,843,890
62 780,911 63, 145,820 751,977 53,645,760 681,655 | 49,962,460
73 765,931 68,728,960 740,541 60,253,390 700,424 | 56,342,000
8 902, 126 94,709,920 853,998 86,550,620 842,852 | 81,287,270
9Z 932,396 95,161,090 833,854 81,435,920 750,291 | 71,256,380
108 730,224 57,889, 130 831,331 53,671,050 685,061 | 48,335,030
k=] 744,200 64,887,410 896, 125 61,883,600 885,415 | 55,705,890
128 1,026,464 83,230,570 1,097,307 75,477,080 857,877 | 62,769,370
S 11,208,953 | 933,670,510 | 11,207,792 | 838,822,260 9,974,620 | 777,192,990
(2) LNG
T 2006 2005 20044
=L A& 2 (ms) SU(H) AHE & (mg) SH(E) At&g(ms) SU(&)
12 327,778 192,844,660 252,302 149,919,530 315,311 64,708,430
23 366,784 | 227,169,400 322,070 185,719,040 357,000 189,982, 180
3 265,271 164,402,850 336, 199 193,637,250 285,641 152,057,460
43 182,087 112,951,780 190,099 101,266,640 183,657 97,878,100
53 49,417 30,897,300 26,712 14,533,330 32,808 17,722,640
6 9,246 6,069,830 6,113 3,669,780 5,993 3,470,410
I 2,671 2,014,230 3,073 2,014,240 2,347 1,531,030
8a 2,313 1,860,100 1,839 1,337,610 1,713 1,193,520
93 534 710,860 2,830 1,924,690 1,698 1,195,320
102 2,861 2,398,290 4,435 2,824,720 4,344 2,722,660
na 7,243 5,476,050 11,352 6,708,200 14,186 8,319,040
128 120,338 80,979,770 105,456 62,164,700 100,957 60, 196,540
SA 1,336,543 | 827,775,120 1,262,480 | 725,719,730 1,305,655 | 600,977,330




Lt. 2004 ~ 2006 BE OIUHX AL=E lch
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(1) &2
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&
IS]

=E o1 2t
Hs

[KVA] 1xt 2%t A2t
1 5,000 22,900 8,760
2 3,000 22,900 8,760
3 500 6,600 380/220 8,760
4 500 6,600 380/220 8,760
5 500 6,600 380/220 8,760
6 500 6,600 380/220 8,760
7 300 6,600 380/220 8,760
8 o0 6,600 380/220 8,760

500
9 500 6,600 380/220 8,760
10 300 6,600 380/220 8,760
11 500 6,600 380/220 8,760
12 300 6,600 380/220 8,760
13 300 6,600 380/220 8,760
14 750 6,600 380/220 8,760
15 50 6,600 380/220 8,760
16 300 6,600 380/220 8,760
17 300 6,600 380/220 8,760
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JITH

Ct.

oF

416[eal)

X
365[d/ ]

X

416[eal]) - (32[W/ea]
24[h/d]

7,072 [W] x
= 61,950 [kih/H]

(49[W/ea] x
7,072 [W]

—_

0J
Ll
KJ
I3
0

—

2 /K]

7=

83.3]

/]

2|

o
—

COMPACT &+

= 61,950 [kWh/E] x
5,160 [&

e=2
o=

(2) 13Wx 2 FPX

o-

365[d/ ]

X

24[h/d]

46,463 [Kith/ & ]

(22[W/ea]l x 2 x 221[ea]) - (20[W/ea] x 221[ea])
5,304 [W] x

5,304 [W]

—_

0l
fr
KJ
I3
50

—

2 /Kih]

7=

83.3]

/E]

2|

=

o
—

-

46,463 [kWh/&] x
X

3,870 [

2 WAl

=]
gl

H

i
=]

o-

341[eal)

341[eal) - (3.3[W/ea] x
— 56 —

(50[W/ea] x
= 15,924 [W]



365[d/ ]

24[h/d]

139,494 [KWh/H ]

= 15,924 [W] x

—_

0l
il
RJ
I3
Ho

/KWh]

2|

x 83.3[&
|_ﬁ

139,494 [kWh/E ]
11,620 [&&/

ok

24[eal)

X

365[d/ ]

X

24[eal) - (80[W/eal
24[h/d]

35,740 [kWh/&]

4,080 [W]
4,080 [W] x

= (250[W/ea] x

—_

0J
il
K
I3
Ho

—

& /kWh]

=

83.3]

35,740 [kWh/&] x

ok

191[ea])}
191[eal)}

365[d/ ]

24[h/d] x
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- {(60[W/ea] x b561[eal) + (120[W/ea] x
465,524 [KWh/= ]

= 53,142 [W]
= 53,142 [W] x

= {(120[W/ea] x b561[ea]) + (222[W/ea] x
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7,072
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=1.4[d]
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(3) FPXSS COMPACT &= 20W &

ZS2Z2 WA

(JF) S XHg|
o= CHOHAS) 4= (ea) ANH(HR)
COMPACT 20W set 5.5 221 1,215.5
(Lt) EXHH| 312=0]|2¢
B 2] () 1,215.5
= ol 2 2 frnd T == — ?
FAEL =Y = e e ) 3,870
=0.4[d]
(4) BL g SN2 T2 HIH A
(JF) & XHh]
= CHOHES) 4= (ea) ANH(HR)
sWR M= SET 295 24 7,080
(L}) EXHH] 312=D|2¢
. = 21) (1 9) 7,080
E = /\ j — T T o — b
A Bl AZPAZFFN (HL/ ) 2,970
=2.4[d]
(5) LIEBSS X2 HIT 2 XAl
(JF) & XHh]
e CHOHER) H4=(ea) AH(HR)
BOWR & =S 260 561 145,860
12WRE =2 305 191 58,255
St Al 204,115
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(L}) EXH] 312=D|2¢

- F2M] (A YY) 204,115
S ESII = rma e e a) T s

m

pal

=
I0
I

5,652 [®2] +7,072 [H] + 1,215.5 [M €]
+7,080 [E] + 204,115 [&e]
225,134.5 [&2]

(L}) EXH] 312=D|2¢

. A
SEXtglel =012t = oﬂ
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100



b, E¥Z 0
=HY= = =FSPN HI D
e T 8.3
Al T 18.9
a2y LNG
HA2A2Y Nm*/h 285.8
2 wmwmes e 8.9
= g o mmAQ 480
ETgeck kcal /Nm® 9,550
Hl & kcal /kg-C 0.4
24 =8 ka/h 150,000
29 B23=2% T 57
= S0yl keal /kgC :
a 29 HI=E kg/Nm® 1,000
29 3r2c C 42
22 27 2% T 18.9
HioIDtARE T 106.4
A HHOtAH| keal /NmC 0.33
;: C0; Vol % 6.5
A 02 Vol % 9.5 24l : 1.83
Co Vol % -
Ol2HAZI Nm®/Nm® 10.742
0I2 HHItA Nm®/Nm® 11.853
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273 (10,332 + A B8&FLH)
= AR ABY
F=od2N88 X TrTases) © 10.332
_ 273 (10,332 + 480)
-2 0 X B Re) C T 10332
= 285.8 (Nm*/h)
(LH)Z2DIH](m)
. 21 _ . . 21
n=et - 21 — O, ATy
= 1.83
(2) &<

= 9,550 x 285.8
= 2,729,300 (kcal/h)

(L) =2 &2 (Q)
Q@ =AH=9 HIZ (kcal/kgT)x (HUHM 2% - 2JI2%)(TC)
x SiZAI=E (Nm/h)
=0.4 x (18.9 -8.3) x 285.8
= 1,212 (kcal/h)

2f (Nm’/Nm’) x  BJIl x HIZ (kcal /Nm*C)
BII2E - AJRE)(T) x AZAI=E (Nn’/h)
= 10.742 x 1.83 x 0.31 x (18.9 -8.3) x 285.8

= 18,460 (kcal/h)
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selEz(Q)

(ct) &¢
Qi = Q + Q + Q3
= 2,729,300 + 1,212 + 18,460
= 2,749,152 (kcal/h)
(3) &<
(JF) 29 &4=<Z(Ly)
Ly = =8 (kg/h) x 22 HIZE (kcal/kgC)
x (2238 2% - 23/4& 25)(TC)
(57 - 42)

HHOEA &=AlE (L)
Lo = {Gy + (m—1) x Ag}x Cx (tg-ta)x W
={11.853 + (1.83 - 1) x 10.742} x 0.33 x (106.4 - 8.3)x 285.8

= 192,150 (kcal/h)
Go @ Ol2AA JtAZE (NmP/kg)
m o 24|
: 2JIHlIY (kcal /Nm*-TC)
tg @ HHIOIARSE (TC)
ta @ 2AJILE (TC)
W: A2 ALE2S (Nm/h)
(Ct) S2AMAMN 28t d=al(Ls)
Ly = 3,050 X [Gy+ (m—1) X A4,] < (CO) =0
OJIA BIDIDEA = COOtASl vol % (= 0)
cool &zt = 3,050 (kcal/Nm?)
2 JIEF =A< (L)

dg ¢

(ch) &<,
L4:Qi_(L1+L2+L3)
, 162 - (2,250,000 + 192,150 + 0)

= 307,002 (kcal/h)
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(OF) =S

Li =L+ L+ Ls+ Ls
2,250,000 + 192,150 + 0 + 307,002
2,749,152 (kcal/h)

1]

(OF) 2L Eots=(Lf)

Lf = (8B&48 - B22HEE) x 100
= (2,250,000 = 6,000,000) x 100
= 37.5 (%)

(LI B8 &E(E)
_ fEaEd Rz

E = %%%ﬂxum—-gxmo
2,250,000
T 2,749,152 100
= 81.9 (%)
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273 (10,332 + A B8&FLH)
= AR ABY
F=98NE8E X Gurasen) 10.332
-9 7x 273 . (10,332 +170)
(273 + 21.6) 10,332
= 9.1 (Nm*/h)
(LH)Z218I(m)
21 21
n =2l 21 — O, a 21— 6.3
= 1.43
(2) &<

1
Q= 29 LI (kcal/Nm’) x SHAZALEE (Nm’/h)
= 9,550 x 9.1
= 86,905 (kcal/h)

(Lh) =29 2 (Q)
Q@ =AH=9 HIZ (kcal/kgT)x (HUHM 2% - 2JI2%)(TC)
x SiZAI=E (Nm/h)
=0.4 x (21.6 - 20.1) x 9.1
=6 (kcal/h)

ol (Nm/Nm) x  ZIIH x  HlE (kcal /Nm*>C)
2IIRE - 2II2E)(T) x HA2AE2E (Nmé/h)
=10.742 x 1.43 x 0.31 x (21.6 - 20.1) x 9.1

= 65 (kcal/h)
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2(Q)

(ch) 3¢
Qi = Q + Q + Q3
= 86,905 + 5.5 + 65
= 86,976 (kcal/h)
(3) &<
(OF) 29 &< (L)
Ly = =8 (kg/h) x 22 HIE (kcal/kgT)
x (8238 2% - 23/ 25)(1C)
=6,000 x 1 x (50.1 - 36.8)
9.1

HHOIA &4
Lo = {Gy + (m—1) x Ag}x Cx (tg-ta)x W
0.33 x (153 - 20.1) x

= {11.853 + (1.43 - 1) x 10.742} x

= 6,574 (kcal/h)
Ol2oA JtAZE (NmP/kg)

Go
m: 2J|4|
D Z2IIHIE (kcal /Nm-C)

C:
tg @ BHOtAE2E (TC)
ta @ 2JI2% (TC)

W HA2AL22 (Nm®/h)
x(CO) =0
=0)

3,050 (Kcal/Nm®)

A HHOIDEA = COOEA2] vol % (

grod 2f —
=2 o

dg 2 D|EF =24 Z (L)
Lo

Ly = Qi = (Lit Lo + Lg)
= 86,976 - (79,800 + 6,574 + 0)

= 602 (kcal/h)
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=79,800 + 6,574 + 0 + 602
= 86,976 (kcal/h)

Lf = (B8 + BLAE) x 100
= (79,800 + 200,000) x 100
= 39.9 (%)

(Lh) 2 &=2(E)
=

o == L
8|S = t
Jargy 10T g
79,800
= X
86,976 10
=91.5 (%)
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